Math 4a. Homework 15.

1. There are three people (Alex, Brook and Robert), one of whom is a

knight, one is a knave, and one is a spy.

can either lie or tell the truth.

Alex says: " Robert is a knave."”

Brook says: "Alex is a knight."

Robert says: "I am the spy."
Who is the knight, who is the knave, and who is the spy?

Y
A

2. ABCD is arectangle. Find the
coordinates of point D and
draw the rectangle.

A(-9: 2), B(-9; 4), C(-3; 4)
A(0; 6), B(0; -2), C(5, -2)
A(9; 0), B(9, -5), C(2, -5)
A(-6; 0), B(-6;-7), C(0; -7) )i

aoow

3. 4 little ducklings and 5 little geese weight 4 kg and 100 g. 5
. little ducklings and 4 little geese weight 4 kg. How much does

r

one little goose weight?




4. Compute:

D =
1,1
a) 24 4, ) ot e) 1+ LI
2+111 1+% 1+ L
= 1+1
2 4 2
44 —2
b) 1_1 d) f)
2 3
7 ; 24 2 : 3 - 31
4 - 1_3 e
1 1 3 1-1
2 3 3

5. Fill empty spaces with missing digits to get the wright expressions:

[]7 []6[] [j4 7f]4 3.[]5[]8 2 1] 2[]so[]
5.900 1[] 28[] © "0.207 40 d- 5. 05[]27
3[].4[J4 21[]71 4.029[]2 6.[]25[]3

6. Can you trace the following fiures without lifting a pancil and without retracing
any edge?
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7. Compare:

0.756 0.76;

3.4208 3.4028;

4.0986 4.1;

12.576 9.99999;
8. Compute:

a.
b.

-~ 0o 2 o

- @

42.18-10 =
0.0762 - 100 =
8.3-100 =
0.0056 - 1000 =
72.13 + 10 =
0.04 10 =
0.24 +-100 =
12.18 =~ 1000 =

0.12345

0.32032032
2.57043566
7.77777777

0.0102030405;
0.321;
2.57034566666;
7.77777777;




